
›öìvþœ xÄy!Q!¦þ!Ýþ Ýþyßþñ
²Ìí› ö×!’

¢‚öìëy† Þíyþ™öì̃  ¢Çþ›“þy

1V ˜#öì‰þîû þ™yàþ!Ýþ þ™öìvþüy ~î‚ þ™yàþ öíöì„þ …¤%öì‹ !˜öìëû öœöì…y õ 2 × 4 = 8

xy‹ î%•îyîû– Š%é!ÝþÐ %̃Ý%þ “þy£z …%î …%Ÿ#Ð ö¢ç ëyöìî „%þœîöì̃ Ð !„þŠ%é ›%!vþü ö˜î xyîû %̃̃ Ð ‰þ!vþü¦þy!“þ £öìîÐ G%þ!vþü !˜öì“þ £öìîÐ
“þyöì“þ „%þœ ¦þöìîû !˜öìëû îy!vþü ëyîÐ vþz›y …%Ÿ# £öìîÐ |¡ìy …%Ÿ# £öìîÐ

„þV %̃Ý%þ …%î …%Ÿ# ö„þ˜Ú
…V „%þœîöì̃  ëyöìî ö„þ˜Ú

†V „þ# „þ# !‹!˜¡ì !˜öìëû ëyöìîÚ

‡V vþz›y xyîû |¡ìy „þ# ö”öì… …%Ÿ# £öìîÚ

2V Read the following :

We sit around the table
Mother, father and me
Grandparents are here as well
We all eat merrily !

Fill in the blanks with words from the poem : 1 × 4 = 4

(i) She is my _________ .
(ii) He is my _________ .
(iii) Parents of my parents are my _________ .
(iv) We eat _________ .

3V ö…yöìþ™îû ö¦þ“þöìîû ò>>>>>ó îy ò<<<<<ó î¢yç õ 1 × 4 = 4

S„þV  6             2 S…V  3             8 S†V  7             9 S‡V  5             1

4V š¤þy„þy ‹yëû†yëû öœöì…y õ 1 × 4 = 4

”Ÿ„þ ~„þ„þ

„þV ~„þ ”Ÿ !“þ˜ 13

…V ~„þ ”Ÿ þ™¤y‰þ 15

†V ~„þ ”Ÿ ”%£z 12

‡V ~„þ ”Ÿ ¢y“þ 17

ŠéyeŠéye#îûy îy!vþüöì“þ !˜öì‹îû !î¡ìëû!¦þ!_„þ …y“þyëû ~†%öìœy „þöìîû !î”Äyœëû …%œöìœ !ŸÇþöì„þîû „þyöìŠé ‹›y ö”öìîÐ
ö„þyöì̃ y xîÞíyöì“þ£z “þyîûy îy!vþüîû îy£zöìîû öîöìîûyöìî ̃ yÐ
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›öìvþœ xÄy!Q!¦þ!Ýþ Ýþyßþñ
²Ìí› ö×!’

¢›§ºëû Þíyþ™öì̃  ¢Çþ›“þy

1V ò„þó ç ò…ó öíöì„þ „þíy !›!œöìëû öœöì…y õ 1 × 5 = 5

„þ …

îœ– þ™y“þy– ‹y›y– þ™y!…– šþœ þ™!vþü– çöìvþü– þ™öìvþü– ö…!œ– ˜öìvþü

2V Match colours with the objects : 1 × 4 = 4

Object Colour
i) carrot brown
ii) brinjal orange
iii) potato red
iv) tomato violet

3V Fill in the blanks with similar sound words from the list given below : 2 × 4 = 8

(i) Bank : _________ . _________
(ii) Sink : _________ . _________
(iii) Boon : _________ . _________
(iv) Boat : _________ . _________

List of words : coat, pink, sank, tank, moon, wink, soon

4V îyîûöì„þyvþ ö”öì… †!’öì“þîû ¦þy¡ìyëû öœöì…y õ 1 × 16 = 16
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›öìvþœ xÄy!Q!¦þ!Ýþ Ýþyßþñ
²Ìí› ö×!’

¢›¢Äy ¢›y•yöì̃  ¢Çþ›“þy

1V ˜#öì‰þîû ¢î!‹†%öìœyîû ˜y› çœÝþ þ™yœÝþ „þîûy xyöìŠéÐ ¢y!‹öìëû öœöì…y õ 1 × 4 = 4

S„þV œþ™Ýþ __________ S…V ˜†%öìî __________ S†V îû„þœy __________ S‡V ‹†yîû __________

2V þ™y…#öì”îû ˜y› öœöì…y õ 1 × 5 = 5

„þ# „þöìîû þ™y…#îû ˜y›
î„þ› î„þ› „þöìîû vþyöì„þÐ ”y˜y …¤%öìÝþ …yëûÐ

îyvþü#îû ‡%œ‡%!œöì“þ îy¢y „þöìîûÐ š%þîû%ê „þöìîû vþzöìvþü ëyëûÐ

GþyvþY”yîû þ™y…# îöìœ öœyöì„þ ö‰þöì̃ Ð

†yöìŠéîû †¤%!vþüîû ö¦þ“þöìîû …yîyîû ö…¤yöì‹– öà¤þyÝþ !”öìëû
†¤%!vþüöì“þ àþ„þàþ„þ „þöìîû öàþyöì„þÐ

›yíyëû G¤%þ!Ýþ– îvþü öœ‹Ð ¦þyîûöì“þîû ‹y“þ#ëû þ™y…#Ð

3V Select the correct answer : 1 × 5 = 5

(i) Which one of these you don’t see in school ? (a) bench  (b) Chalk  (c) Blackboard  (d) bed
(ii) Which one of these you don’t see in house ? (a) fan  (b) table  (c) Blackboard  (d) bed
(iii) Which one of these is not a flower ? (a) rose  (b) lotus  (c) sun  (d) dahlia
(iv) Which one of these is not a fruit ? (a) apple  (b) orange  (c) carrot  (d) mango
(v) Which one of these is not a part of the bird ? (a) wings  (b) horn  (c) claws  (d) beak

4V ¢›y•y˜ „þöìîûy õ 2 × 4 = 8

„þV ~„þÝþy †yöìŠé 5Ýþy þ™y…# îöì¢ !ŠéœÐ ~„þÝ%þ þ™öìîû xyîûç 4öìÝþ þ™y…# ~öì¢ î¢œÐ ~…˜ ö›yÝþ „þëûÝþy þ™y…# †yöìŠé îöì¢ xyöìŠéÚ
…V ö”y„þy˜”yöìîûîû ~„þÝþy G%þ!vþüöì“þ 8Ýþy xy› !ŠéœÐ xyöìîû„þÝþy G%þ!vþüöì“þ 2öìÝþy xy› !ŠéœÐ “þy£öìœ ö”y„þyöì̃  „þëûÝþy xy› !ŠéœÚ

†V ˜”#îû “þ#öìîû 7 ‹˜ öœy„þ ”¤y!vþüöìëû!ŠéœÐ ~„þÝþy ö˜ï„þy ~œÐ ö˜ïöì„þyöì“þ 3 ‹˜ !ŠéœÐ “þy£öìœ ö›yÝþ „þ“þ‹˜ öœy„þ £œÚ

‡V ¢%!›“þy ö”y„þy˜ öíöì„þ 4Ýþy „þœy !„þöì̃  xy˜œÐ ~!”öì„þ “þyîû îyîyç ö”y„þy˜ öíöì„þ 6Ýþy „þœy !„þöì̃  xy˜öìœ˜Ð “þy£öìœ
~…˜ ö›yÝþ „þëûÝþy „þœy £œÚ

ŠéyeŠéye#îûy îy!vþüöì“þ !˜öì‹îû !î¡ìëû!¦þ!_„þ …y“þyëû ~†%öìœy „þöìîû !î”Äyœëû …%œöìœ !ŸÇþöì„þîû „þyöìŠé ‹›y ö”öìîÐ
ö„þyöì̃ y xîÞíyöì“þ£z “þyîûy îy!vþüîû îy£zöìîû öîöìîûyöìî ̃ yÐ



›öìvþœ xÄy!Q!¦þ!Ýþ Ýþyßþñ
²Ìí› ö×!’

›y˜!¢„þ ç Ÿyîû#!îû„þ ¢›§ºëû ¢y•˜

1V ö“þy›yîû ö”…y ö¦þyîûöìîœyîû Šé!î x¤yöì„þyÐ ö¢Ýþy îû‚ „þöìîûyÐ ö¦þyîûöìîœyîû çþ™îû ”%!Ýþ œy£z̃  öœöì…yÐ 2 + 2 + 1 = 5

2V Draw the picture of a bird. Colour the picture. Write one sentence about the bird. 2 + 2 + 1 = 5

3V 2 × 4 = 8

vþzþ™öìîûîû x¤y„þy Šé!î öíöì„þ …¤%öì‹ öîîû „þöìîûy ˜#öì‰þîû xy„þyîû „þëûÝþy xyöìŠéÐ ú xy„þyîû†%!œ !˜öì‹îû …%Ÿ# ›öì“þy îû‚ „þöìîûyÐ

!Ÿ…˜ þ™îûy›ŸÅ õ !ŸÇþyíÅ#îûy vþzþ™öìîûîû Šé!î öíöì„þ ²Ìöì“þÄ„þ!Ýþ xy„þyîû „þ“þ†%!œ „þöìîû îûöìëûöìŠé “þy †%öì̃  öîîû „þîûöìîÐ

ŠéyeŠéye#îûy îy!vþüöì“þ !˜öì‹îû !î¡ìëû!¦þ!_„þ …y“þyëû ~†%öìœy „þöìîû !î”Äyœëû …%œöìœ !ŸÇþöì„þîû „þyöìŠé ‹›y ö”öìîÐ
ö„þyöì̃ y xîÞíyöì“þ£z “þyîûy îy!vþüîû îy£zöìîû öîöìîûyöìî ̃ yÐ


